Al @ 1, Folx

=
=

7H

o<t

10 |00

—

o™ oo

— <




590l S FoA 87, Fold, &S 194 Bl H 9]

® 24714 @ 36714 ® 48714
@071 ® 1274

B

= e 57p0l T, R
e AT 4% Fol4 Bow ek staRake sy
2332 AT 37 FoIA BoW P, qejnz Pohi

H
7A90] 4 5% 4x 3 = 60(7}A]) ol




NIt

49] wjs=Ql gHE2 g o|jBZ F5t= FES
423
8 8 4




4.

A B, C. D, E5 39 34 5 4 5& Bol o 193t 22 4 A9
ool ghslel @k of W, A 7} @, B 7t @ olzpe] g
A9 BE # 70l Fafelel,

A b

=¥ 2

>
> e 6 7

B

A 7} @4, B 7t @9 9Ae] 1AAA%CH @, @ F A9
Sl e, whebd < 7le) 9490 C, D, B A F1A

A2 Bt Sl el 48 Feie, Tl 9 x5 6 (71)
o,




H50] S s o A= 300 A oS U DA A AL EO 2
6 2 27k & A uj,

D)15714] @ 16714 ® 17744
@ 18744 ® 19744
= = 6 X5
671 FollAl 2718 Adshs 99 Sk 222 = 15(7}A) olch,




6.

M2 T2 5 719 R a, b, o, d, e & B T HHTHAL§T TolS
A 0.2 A T, cdeab = B WA TolelA] T2

@® 63 AA @ 64 AA 3)65 AA
@ 66 AA ® 67 WA

B

G5t H9olBR 4x3x2x1 =24 (7))
O TTTI9A994: ot 2ol 247

©cd [ ] ]9ARA S b,d,e3 N EAS

@ctl [ [ 19494 a,d,e3 N EAS

AgolBEZ 2x 1 =2(7H)

A9olBg 2x1 =2(7H)

oA cdeab = 65 AR 2] Trojolt},

O T T T]QA%80 %+ b.c.d, 47l BRE B2
4

@cdd_| A AL 5 b, e2 /M0 BAE QP2 st
®cat | A A% 51 a, e 2700 BAELD sl

@2 TS BA7} cdeab ©O|B2 24 + 24+ 6+ 6+ 2+ 2 = 64

[ =2 ]
=2 =2

f

dgz




